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Figure S15. Kaplan—Meier plots of Combined Sanz groups and ROC plots between the Sanz score
and the revised risk score. Kaplan—Meier estimates of OS (A), EFS (B), and DFS (C) when combining

the Sanz low- and intermediate-risk into a single category. Comparision of the OS (D), EFS (E), and
DFS (F) ROC curves between the Sanz score and the revised model score. P-value is calculated using
the log-rank test. OS, overall survival; EFS, event-free survival; DFS, disease-free survival; ROC,
receiver operating characteristic.



